[Serles FEH3SG ] E3E [SET ~ 3]

(<12 T9-U RIS

' Roll No. Q.P. Code 32/3/3

qlierell TR0 IS T IT-YRAHT h
TG-98 T e ford |

(
l
| oo
) I
1
)
{
)
{
I

LT ) TR T e

Candldates must write the Q.P. Code

AT @
sociaL science MW

fAeria g7y - 8 yue 3ferhad 37 : 80

Time allowed : 3 hours Maximum Marks : 80

Tic / NOTE #

(D

FOAT ST L & foh 30 -0 § Af3d I8 21 + 1 AHARAE |
Please check that this question paper contains 21 printed pages +1 Map.

(ID

- § a1 &1 A AR I T we-u e wltaeff Sw-afae % 1E-s W
fag |

Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

(ITD)

FUAT STTe L o foh 56 AT H 37 T & |

Please check that this question paper contains 37 questions.

(Iv)

FHUAT T T IW FTEAT J& A A Ugel, IT-GRAeht H AT TAT W I T
THATH AT [T |

Please write down the Serial Number of the question in the
answer-book at the given place before attempting it.

V)

3 T e & T 15 fiFe 1w o e ® | weAus o faaor gatE §
10.15 S foRaT SITQIT | 10.15 91 & 10.30 St a0k TeTeff shaet Je-97 ol gl 3T
TH AT o G o IT-YRedehT T 15 I Aal T |

15 minute time has been allotted to read this question paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the candidates will read the question paper only and will not
write any answer on the answer-book during this period.

I 32/3/3

Page 1 of 23 P.T.O. I

T T e, T . " . "



EEE
Eﬁ* #

AT 3397 ;
AFAfeTRad a1l %! SAYEeF TIgTq 3R 371 T FHIfTg .
(i) SEYH-TAH37IE | Gt T3 AFAAE 8 |

(i) T-U7D: GUSI H [G9IfSid 8 — @IS &, @, M, 9, T T o |

(iii) EUE & — T G&IT 1 8 20 TFaecdid TR & ¥ 8 | TdF T 1 SFH H 3 |

(iv) T@UE @ — T G 21 § 24 31 TY-ITT JHR & J97 & | T T 2 3l H18 | 39
1 1 IR 40 I1531 § 3714 T8 for@n 1 =1eq |

(v) @UE T — T GG 25 § 29 T3 TR & 7 8 | TI% T 3 371 &1 8 | §9 391 &1
3T 60 37531 G 3T1eF T8 foran 1 A8 |

(i) WIBY — J9 G&I71 30 G 33 -39 TR & G971 & | I T34 5 3ihl F1 &8 | 59 I91 1
I 120 sl G 371k & for@r sir=r =nfau |

(vii) TUE & — I3 &I 34 G 36 FT/FIa-3eid I97 8 577 i U397 8 | Iedoh T3
4 HBFTE

(viii) U & — Y97 G&IT 37 HHIH HIVA-3RT I3 8, 15799 & 97T & — 87 () 38/
(2 %) 3R 37 (@) A (3 37%F) | I F FeT 5 3F 3 |

(ix) 3G% 3R, &IH 3 T givaTera wienfear & forg foF a9r gAfad 37fs smemia J91 &
T R Qe 379 T 1537 71 & | 39 Te1 o IR halel groanera gliensft g ford |

TUE H
[CREETE IR L) (20x1=20)
1. ffafed Ufaeiyes semstl it sesrargar saftad iy i @@t fasker

Rl Eﬁﬁ"l : 1
[ SRE g
II. e e
1. <9R §AUE
IV. Geacme
e :
(A) LIIIIIV B) LI, IIV
(C) IL LIV, III (D) IILIV,ILI

I 32/3/3 Page 2 of 23 I



£ #
General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 37 questions. All questions are compulsory.

(i) Question paper is divided into six sections — Section A, B, C, D, E
and F.

(iti) Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D - Questions no. 30 to 33 are Long Answer (LA) type questions. Each

question carries 5 marks. Answer to these questions should not exceed
120 words.

(vii) Section E — Questions no. 34 to 36 are Case/Source-based questions with three
sub-questions. Each question carries 4 marks.

(viit) Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for

Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates

only.
SECTION A
(Multiple Choice Questions) (20x1=20)
1. Arrange the following historical events in chronological order and choose
the correct option : 1

I. Bardoli Satyagraha

I1. Rowlatt Satyagraha

III. Champaran Satyagraha

IV. Kheda Satyagraha

Options :

A LILIILIV (B) ILILLIV
(C) IL LIV, III (D) IIL IV, IL I
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2. f=fefed & o fore gammws 1 gey a1er TR fooe 9 8 2

A) TegEm
(B) ST fareht
(©) oy

(D) e

3. WA ¥UF % HeW #H < qorar W et SqT At et Fefafad @ & fewe

i off 2

(A)  oATSITel fes <
(B)  sRTgdr 37 wrfeh 6T
(C)  wrifa st =g &t

(D) T T T o GAUTA hl

4.  GIEd TCaredl o IS H TRy SR 3 shieruedl 4 i w0 A faswr

T IR foRaT 2
(A) &

(B) <%

(C)  diferw
(D) Wt

5. fwdt AfAe, 1o qRER % |, SHIA % IS 6 b 39 T I IRER
% M- % fAT S I 1T W WHel ST ¥ | 9 HaT i JataT HH &
St ®, A1 9 Y % fu oqft 1 qew gher RIR et ® | 9w Fefafed 7 9

iy i forer fafer 1 ST et 7 2
(A) VI FHY

(B) o 3T q& i

(C)  TT&T SfifershT HiY

(D)  aforSae iy
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2. Which among the following newspapers is related to Bal Gangadhar
Tilak ? 1
(A) Hindustan
(B) Bangla Patrika
(C) Veer Bhoomi
(D) Kesari

3. In reference to the Germania allegory the “olive branch around the
sword” symbolizes which one of the following ? 1
(A) Being freed
(B) Heroism and strength
(C) Willingness to make peace
(D) Beginning of a new era

4, The germs of which disease paved the way for Europe’s conquest of
America in the later half of the sixteenth century ? 1

(A)  Cholera
(B)  Smallpox
(C) Jaundice
(D) Malaria

5. Mrs. Monica, along with her family, clears a piece of land and grows
grain and other food crops to feed her family. When the soil’s fertility
decreases, she prepares another piece of land for agriculture. Which of
the following methods of agriculture does she use ? 1

(A) Plantation farming
(B)  Slash and burn farming
(C) Intensive subsistence farming

(D) Commercial farming
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6. WY I H @Y II ¥ e Hifvw 3t w) faemew o1 == Fifse
o9 I &y 11
a. IR IS qgIfoer i IS
b. #WE o e . TSR
c. UfEm e fise iii. 3™
d. e AT 3TH iv. &
frerew :

(A)  a-i, b-ii, c-iii, d-iv
(B)  a-ii, b-iii, c-iv, d-i
(C)  a-iv, b-i, c-iii, d-ii

(D) a-ii, b-i, c-iv, d-iii

7. = 3 % fow u € | T Afiehus (A) 3T HROT (R) | SFT hUAT B Ufeu 3T

e foshe 1 =¥ HifST

HAFI (A) : R § ATUHI Te8T ITNT AT AaT % qC W T Hopdl A@er o
Fafkrd g |

FRU(R) ;WA UE 1 qHU wrgl frrfaeh 2 |

foerew

(A) (A 3R (R) 3HI & 2 3R (R), (A) i 98 A5 |

(B) (A) 3R (R) 3HI €& 8, W (R), (A) hl Gl AT 787 © |
(C) (A ®Ere, wq (R) T2 |

(D) (A Taq 8, W (R) F&l2 |

8. T T o1 qfd o foTu @&t forepew o1 = hifN

TR AT Tt S 3R faer Wt 3refiershi st gem it 9fshar FATY
ST ST R |

IECTG

(A) T

B) Fafaw

(C)  IerleRur

(D) et
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6. Match Column I with Column II and choose the correct option : 1
Column I Column I1
a. Sariska Wildlife Sanctuary i. Uttarakhand
b. Manas Tiger Reserve ii. Rajasthan
c. Periyar Tiger Reserve iii. Assam
d. Corbett National Park iv. Kerala
Options:
(A)  a-i, b-ii, c-iii, d-iv
(B)  a-ii, b-iii, c-iv, d-i
(C)  a-iv, b-i, c-iii, d-ii
(D)  a-ii, b-i, c-iv, d-iii
7. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option : 1
Assertion (A) : Most of the jute industry in India is located in a narrow
belt along the banks of Hugli river.
Reason (R) India is the second largest exporter of jute.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).
(B) E&))th (A) and (R) are true, but (R) is not the correct explanation of
(C) (A)1istrue, but (R) is false.
(D) (A)is false, but (R) is true.
8. Choose the correct option to fill in the blank : 1

The process of removing barriers on foreign trade and investment by the

government is known as

Options:

(A)  Import Tax

(B)  Export Tax

(C)  Liberalisation
(D) Industrialisation
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9. foww it vg=m S |
(A) g soed fafies
(B) 9T wed fefues
(C) fTegwam gfieftan fafiee

(D) WA gt gaifoeanew fafies

10.  Ha foemme e o1 yemrer fore e gry fomam Sar 2 2
(A)  Tava =mw drea
(B) WHAE §EREA
(C)  HYF g forehrer shrlsem
(D) fova wreT gea

11.  3NU=ieh &5 & RO 4T I AWH Tl & ? FHEfaRad wrom ot afgu 3t gee
IHeRT forehe T =9 HIT
I. St it Sucteyar
II.  RUMYR i ULl
[II.  SROTohl ol Ua STt AishaT
IV.  =xomeff st STTeehdr

forereu :
(A)  FHad L II I ar e | (B) e II, III 3 IV g1 8|
(C) I, II IRV "I | (D) AL I ARIV a2 |

12. Tfafad oA & mur W &9 & ugae HiNY 3wl foshed &1 ==—E
ifvg

. T ST ol I8 ATH IS HEAT BT 2 |

. T &5k T LATTHce Ueh o<k AT Shu=l sh BT T BT § |
. ZTeT 3T o TS 39 8575k hl ISR £ |

e

(A)  HEHH &Th

(B)  3TETiSd &k

(C) &S &b

(D) TSI &k
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9. Identify the odd one out. 1
(A) Hindustan Computers Limited
(B)  Bharti Airtel Limited
(C) Hindustan Unilever Limited
(D) Bharat Heavy Electricals Limited

10. By which organization is the Human Development Report published ? 1
(A) World Trade Organisation
(B) Amnesty International
(C)  United Nations Development Programme
(D)  World Health Organisation

11. Why is it not easy to get loans from the formal sector ? Read the following
reasons and choose the most appropriate option : 1

I Availability of Banks

II. Availability of Collateral

III. Long and Complicated Loan Process

IV.  Awareness of Borrower

Options :

(A)  Only I, IT and IIT are correct.  (B) Only II, IIT and IV are correct.
(C)  Only I, II and IV are correct. (D) Only I, IIT and IV are correct.

12. Identify the sector on basis of the following characteristics and choose the

correct option : 1
o The objective of this sector is to earn profit.

o This sector is owned by a person or company.

. Tata Iron and Steel is a example of this sector.

Options:

(A)  Cooperative Sector
(B)  Unorganised Sector
(C)  Public Sector

(D)  Private Sector
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13. N U wIeue of ¥ Hafod TR fu T € | 39 SAfhel 1 1emeH Hifve oK
I A= few T ue T S fafay
g Fol SHEET] | e uikafd
7 1 8 T i ATY 1200 1000
14 TT 15 99 3t Y 1000 800
N 2200 1800
TH A% 14 TAT 15 I o 7 a1 b1 IuReertal Shewra gl
(A) 90 gfcsra (B) 80 gfasra
(C) 70 fcsma (D) 60 gfasra

14. = a1 o fou w0 € | I AR (A) 3 HROT (R) € | SFT AT 1 IfeU 3R

el faehed o1 = I

ST (A) :  ¥TQ W S & I AT ST 3 UTH TS 10T HLa™T 8ra 3 |
FRO(R) ;WA H A TSHITAe Sl b SR IS g JaH i 2 |
ferepeu .

(A)  (A) 3 (R) ST Hal & 3 (R), (A) I T&l AT & |
(B) (A) 3R (R) 3 w&l €, T (R), (A) il H&l AT & 2 |
(C) (A @&Is, Wq(R) Tzl

(D) (A Td 8, W (R) @&l e |

15. FHAfaRad § & SH-A1 998 s § agues ¢ ?

(A)  afye-wTet
(B)  fosc-wmdt
(C)  degy-wrt

(D) SFTSH-wTt
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13. Data related to an imaginary country is given below. Study these data
and answer the question that follows : 1
Age Total Population | Net Attendance
7 and 8 years of age 1200 1000
14 and 15 years of age 1000 800
Total 2200 1800
The attendance percentage of this country of the age group of 14 and
15 years is
(A) 90 percent (B) 80 percent
(C) 170 percent (D) 60 percent

14. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option : 1

Assertion (A) : Every party in India has to register with the Election
Commission.

Reason (R) : The Government provides election symbols to all political

parties in India.
Options :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)1istrue, but (R) is false.
(D) (A)is false, but (R) is true.

15. Which of the following group is in majority in Sri Lanka ? 1
(A)  Tamil-speakers
(B)  Sinhala-speakers
(C)  Telugu-speakers
(D)  English-speakers
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17.

18.

19.

20.

W o1 Gl saareelt H gUr & TsHIfdsh ot bl fmfafad 3 @ #9-8 %l e

AT o o T R 2 el UG forehed i = hifST |

I o7 ot aoifaes gatt o fog e fiesd v it srfiamiar g |

1. A9 gt ol § Uep-foeTs aiedr uee shi Aa=iar 8T |

L 7 aft Trftfen aat o o aimefes SAme o i sTfariar & |

IV. 39 I9Y-UF g0 O S sl AR H I 1@ 9T hl STHRRT & shi
Sl et 8T |

frerea :

(A)  Faet I, I1 3R 111 T & |

(B) ad L, IRV T &)

(C) Fad L, I IARIV T T |

(D) 3aet II, 111 3 IV e & |

frfafad @ @ ®H-AT AT Al TUEAT B TSR HT § 2
(A)  AfEETSAl o 7 1 Hod TeNT o 7a o 7T ¥ AT 8T |
(B)  WT&cAT3l ol 7 o 11 ok EITHT T |

(C) %o i 37Xk AT & LT |

(D) Y& TS ATSATSAT Sl G AT J&T LT |

frfafad & & w2 gafaa gm0 1 == AN
A)  wwadiEEt - e
(B) wmadig=t — widwen
© el - R
(D) FHadl gl — =ATR

g o Fafafaa 9§ 9 fora 3 A gfead Treqor o1 a9 o WIS 2

(A)  TRUTICTRT B) foum e

(C) TSIE (D)  =TITICIeRT
frafafad § & H-8 w7 TR iaar i mae gt § i § ?
(A) W (B) wmeft

(C)  TSTETHt (D) dEa
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19.

20.

To reform the party system, which of the following tasks have been made

compulsory for the political parties ? Choose the most appropriate option. 1

I It is now compulsory for all the political parties to file income tax
returns.

I1. It is now compulsory for all parties to have one-third women
candidates.

III. It is now compulsory for all the political parties to hold their
organisational election.

IV. It is now compulsory for all candidates to disclose information
about pending criminal cases against them through affidavit.

Options :

(A)  Only I, II and III are correct.
(B)  Only I, II and IV are correct.
(C)  Only I, III and IV are correct.
(D)  Only II, IIT and IV are correct.

Which of the following statements represent gender equality ? 1
(A)  The value of women’s vote is more than that of men.

(B)  Restricting women to household chores.

(C)  Providing more rights to men.

(D) Providing voting rights equally to men and women.

Choose the correctly matched pair from the following : 1
(A) Concurrent List — Education
(B)  Concurrent List — Defence

(C) Concurrent List — Police

(D) Concurrent List — Trade

In which one of the following organs of India are women taking

advantage of reservation ? 1
(A)  Municipality (B) Legislative Council

(C) Rajya Sabha (D) Judiciary

Which one of the following languages is included in the Eighth Schedule

of the Indian Constitution ? 1
(A)  Bhojpuri (B) Magadhi

(C) Rajasthani (D) Tamil
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21.

22,
23.
24.

25.
26.

217.

28.

29.

30.

31.

#
LCLCRC)
(et erg-Iwda ) (4x2=8)
T BTTiSer |9ET & Ae W1 7 foaor Ak o f7g fohe TP AT © 2
T T | 2
Jueftertur & fereel 3T ATt =Rl Tue iU | 2
WA T oW fovd I8 % fopeal 1 3Tfefer ywTal o1 Seeid hIfT | 2
(%) Ik qaU hT foeel a1 forwaradl &1 qui HITWT | 2
JAYAAT
(@) g gar i foredi Q1 formaredt @1 uid shifse | 2
Qug T
(Tg-3wr ™ 99) (5x3=15)
STt Sfta e (Siorew) o foheel di Sewat sht s hifse | 3
Al ford TR Teh STieET, e 31T 39 Y ot TATYAT ohidl & 2 ATl
I | 3
(F) ORA Tordar Go9 9T iefi-stfem augia & g9mEt o1 foveyor Fif | 3
AT
(@) wRdT T Sieier § ool dawm TS 6t vfierr & fovewor v | 3
ek STHT % HE i U T | 3
VR T HEITeHR ST shi S ToRINaTaT 3hi ST shifsg | 3
G LR
(&3 T (4x5=20)
(@) TSI S o forehmer & AR e o ANTET o foReisor HIfT | 5
YT
(@) R H 0T Sl 26T forepre 7 1 fagetwor Hifs | 5
() - oRRUEAT IR Wiaem i gHAE o 8 1 9w H g AT | 5
AT
(@) W sl Afireh GHTET st TTfud S & i3 i U Ge1sT | 5
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SECTION B
(Very Short Answer Type Questions) (4x2=8)
21. How is the distribution of power among different social groups beneficial
for democracy ? Explain. 2
22. Explain any two benefits of globalisation. 2
23. Mention any two economic impacts of the First World War on India. 2
24, (a) Describe any two features of ‘arid soils’. 2
OR
(b)  Describe any two features of ‘forest soils’. 2
SECTION C
(Short Answer Type Questions) (6x3=15)
25. Explain any three aims of Jal Jeevan Mission (JJM). 3
26. How does democracy establish an accountable, responsible and legitimate
governance ? Explain. 3
27. (a) Analyse the impacts of Gandhi-Irwin pact on the Indian freedom
struggle. 3
OR
(b)  Analyse the role of Alluri Sitaram Raju in the Indian National
Movement. 3
28. Examine the importance of bank deposits. 3
29. Explain the main features of the Indian federal system. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
30. (a) Analyse the contribution of Johann Gutenberg in the development
of the printing press. 5
OR
(b)  Analyse the development journey of print culture in India. 5
31. (a) “Secularism is the very idea of Indian Constitution.” Justify the
statement. 5
OR
(b)  Suggest any five measures to establish the gender equality of
labour. 5

I 32/3/3 Page 15 of 23 P.T.O. I



32. (%) AdyawT & s Ta st & T Seretn afgd it wee i | 5
3T
(@) =W S T 7o i % ' 7 | e SAfaiEd USTR % gSH 8q
A HH-8 g O forew grfior & o Fanfiat i stse h aer

T Y ST G ? 5
33. (%) NG Y I &Y i foreraren w1 ot Hifse | 5
AT
(@) WRd H IME S AT TH@ A1 SIS h FHA h qed o s ol
i | 3+2=5
Qg T
(hE/ETA-SAT TR T9 ) (3x4=12)

34. feu U A 1 ufey K 3ues A= fow U e & I AN
g ATAEh

e 3T T ARG Wi & qor 3fenfies ok it O @ | wra &
e 3Tk % g deres freme § | aRa 399 Hfe % AeivgE | s §
¢t B | AESe HaH YR hT diig 319%h © fSed 70 ufdwrd <igier 3= |46 8
IR ST 8 | §OH FAAS Hehid 07 Bid ©, W frEd SEn 6 Ry w9 8 Swnd
§ | THCTEE HAlTeh WewqUl SR Tlie 3T & ISEeT ATRhaH HET § 39T
33T 7, Fohq SOd QETeT ot AT Serse T e -t wu At € (38 arer
50 ¥ 60 JfeId dh 9T AT ) | 9¥ 2018 — 19 W g T HT ATHT T
I (97%) SAlfeR, TG, FAleh A ALES ¥ I g1 | AT Icurad
(3%) = TSAT | AT T |

(34.1) Tor® TiIE 3TIE H T TG UTIT ST & 2 1
(34.2) Tifereh HEwIqUl ST TAIE SFAEH HIH-ET 2 2 1
(34.3) “TIIE 3T2IEH Teh AT @IS & |7 $H e hi G18 HiTT | 2
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32. (a) Distinguish between public and private sector of economy with
examples. 5

OR

(b)  Suppose you are the Sarpanch of your village. What suggestions
will you give for creating additional employment in the village, so
that the problem of unemployment of the residents of rural areas

can be reduced ? 5
33. (a) Describe the features of cropping patterns in India. 5
OR
(b)  Describe the main characteristics of major millet crops grown in
India. 3+2=5
SECTION E
(Case/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :
Iron Ore

Iron ore is the basic mineral and the backbone of industrial
development. India is endowed with fairly abundant resources of iron ore.
India is rich in good quality iron ores. Magnetite is the finest iron ore
with a very high content of iron up to 70 per cent. It has excellent
magnetic qualities, especially valuable in the electrical industry.
Hematite ore is the most important industrial iron ore in terms of the
quantity used, but has a slightly lower iron content than magnetite
(50 — 60 per cent). In 2018 — 19, almost the entire production of iron ore
(97%) accrued from Odisha, Chhattisgarh, Karnataka and Jharkhand.
The remaining production (3%) was from other states.

(34.1) In which iron ore is the maximum iron content found ?
(34.2) Which is the most important industrial iron ore ?
(34.3) “Iron ore is a basic mineral.” Support the statement.
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35. feuw U @i 1 ufey 3fit swe = fow Tyt % I @R
TIfSa &k
FHIT TSd &A%k B A Ll & | TSd &k § o T AT 1 -LAqH
HA & el YSOR h sty (afid gt & i gafely @t & org giHfed sm
BT 8 | I &5 TR ENT USishd I & AR 3 it et wd fafwmt w6
HIAEH FHAT BT & | 31 i we fafwmt @ e [ttt S — sramn
AR, =aw wstelt Afeim, Jarger A, g 6 giaseM iR,
FAfe § Soci@ R T @ | 39 WS &bk ed @ Rl 36kl $o U=
SfskaTd we FRIfARmT € | 570 %o A et & g i T8 8 afes 9 &
HTH F THA 8, T 30 W A Hl THR % GHE Usilepd HAT 8T & 3R
et we farfemt s ST e g B |

(35.1) TS &Aek T h1a SN hl forelT Uah fariwdT sh Soci@ shifsTT |

(35.2) GITSA &5k o HHTTRT bl HaleaT gRT e ater fordlt weh Ay ol T
i |

(35.3) TI-USHR 4 S[¢ §U T+t TANT bl TLHR o AHET G0 HLATT a1 ST & 2

36. U U Hid = ufer K 3Eek A= oy T gwHt % I AN
EQIGEAN

1815 % W1& % a9l § THT % W 7 3T ISNATGI-ganiedl i qHTa
foa | wga | i TsAr & swiferiEr s a3 o et # TER e
% fU T WMeT IW AT | 3@ WA AN B 1 AdWS I TSI
ST T foe & & oT S AT 6| & o Tnfuq it 78 off | 'y &
ST 3R AqfE & T Tiderg 8T ST o ST Shifdeprl 8 % g STt o |
SATETAL Shifdeh it TSE-TSAT oht TATOAT Sl AR o 30 oy 1 Aamd fewm
qHd o |
(36.1) SeRaTHT T forEt Teh TSTHIfdeh AT T Sl hifSTT |

(36.2) U TAT H T HISHAT % I8 o Y@ HRUT Hl Ieei@ Hifory |
(36.3) 1815 % W13 Ieh ISWATGI-USZATCAT % HWTd B % HRON 1 fagersor
IS |
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35. Read the given source and answer the questions that follow :

Organised Sector

Kanta works in the organised sector. Organised sector covers those
enterprises or places of work where the terms of employment are regular
and therefore, people have assured work. They are registered by the
government and have to follow its rules and regulations which are given
in various laws such as the Factories Act, Minimum Wages Act, Payment
of Gratuity Act, Shops and Establishments Act, etc. It is called Organised
Sector because it has some formal processes and procedures. Some of
these people may not be employed by anyone but may work on their own,
but they too have to register themselves with the government and follow
the rules and regulations.

(35.1) Mention any one feature of the working conditions of organised
sector. 1

(35.2) Explain any one benefit provided by the employers to the
organised sector employees. 1

(35.3) Why is it necessary for all self-employed people to register with the
government ? 2

36. Read the given source and answer the questions that follow :
The Revolutionaries

During the years following 1815, the fear of repression drove many
liberal-nationalists underground. Secret societies sprang up in many
European states to train revolutionaries and spread their ideas. To be
revolutionary at this time meant a commitment to oppose monarchical
forms that had been established after the Vienna Congress, and to fight
for liberty and freedom. Most of these revolutionaries also saw the
creation of nation-states as a necessary part of this struggle for freedom.

(36.1) Mention any one political demand of the liberals. 1

(36.2) Mention the main cause for the rise of secret societies in European
States. 1

(36.3) Analyse the reasons for many liberal-nationalists going
underground after 1815. 2
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(AT o I9TeA-SATHTRE T9+T) (2+3=5)
37. (%) WRA & fU TC qHifTw Wr-AERE (58 23 W), § 3 TIET & A’ 37K
B % &9 § Afha frar mar 7 | Fefafas smed i agmar @ 3=
JEETHT 3R 3 T8t T 31 qHIT Tt 78 et w faiau 2x1=2
A. I SN SR 1927 § IR TS i 1 SATTERM 3T T |
B. 9% T T8l HETcHT et ¥ =Heh I dsT o |
e : (HEfIad Yo7 Fae grEaTtea qaenieral & fo7q Yo7 €&1 37 () & T W 3 |
(F) () 9 @WHE & 99 fafeu F@F 1927 ¥ 9T T SO @@
SIS g7 o7 |

(i) 39 T 1 T fARaw STt At et 7 FHe I arst o | 2x1=2

(@) wra % 36t TeHifaess Wramfe |, fefafed & @ fel @7 & suged
forgt @ ewiise 3t 96 W fafau - 3x1=3
1) ufEr STTeT T ek STaUise gamg U
(ii) ik T Uoh HFCAIL SoHTATSIT TTeh
(i)  weEwrse § ferd ue onfvees Seit w9
(iv)  3TfeT o1 Ueh T et ueH
e ; fEfcTad Y7 Faa gieaTtaa adenferal & forg y7 &1 37 (@) & T WE |

(@) forel a7 gt & 3 fefau | 3x1=3
() 38 wE % 9w faRey St ufgm dner ¥ uE Sl gars ue
Jaftyd g |
(i) 39 M & A0 AU S&f FAicsh § T GRS Teh
aftyd & |

(i) 39 TN H1 TH frRau ST qenrse # U ATivaeh Seil G397 AR # |
(iv) 38T %1 AW fIRa Set e § U T 9 oo Hared & |
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the
lines drawn near them : 2x1=2

A. The place where the session of Indian National Congress was
held place in 1927.

B. The place where Mahatma Gandhi broke the Salt Law.
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37 (a).

(a) (1) Name the place where the session of Indian National
Congress was held in 1927.

(i1) Name the place where Mahatma Gandhi broke the Salt Law. 2x1=2

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
1) An international airport of West Bengal
(i1) A software technology park of Karnataka
(iii) A nuclear power plant located in Maharashtra
(iv) A major sea port of Odisha

Note : The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 37 (b).

(b) Attempt any three questions. 3x1=3

(1) Name the place where an international airport is located in
West Bengal.

(i1) Name the place where a software technology park is located
in Karnataka.

(iii) Name the place where a nuclear power plant is located in
Maharashtra.

(iv) Name the place where a major sea port is located in Odisha.
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